Financial Management II

Assignment #1

Question 1:

1. The common stock of BCC Inc has a beta of 0.8. The Treasury bill rate is 4% and the market risk premium is estimated at 8%. BCC’s capital structure is 30% debt paying 5% interest rate, and 70% equity. What is BCCIs cost of equity capital? BCCI pays no taxes.

2. BCCI is evaluating a project with an internal rate of return of 12%. Should it accept the project? If the project will generate a cash flow of $1,000,000 per year for 7 years, what is the most BCCI should be willing to pay to initiate the project.

Question 2:

A financial analyst ad Dawn Chemical notes that the firm’s total interest payments this year were$10 million while total debt outstanding was $80 million, and he concludes that the cost of debt was 12.5 percent (i.e. calculated as $10m/$80m). What is wrong with this conclusion?

Question 3:

Bunkhouse Electronics is a recently incorporated firm that makes electronic entertainment systems. Its earnings and dividends have been growing at a rate of 30%, and the current dividend yield is 2%. Its beta is 1.2, the market risk premium is 8%, and the risk-free rate is 4%.

a. Calculate two estimates of the firm’s cost of equity.

b. Which estimate seems more reasonable to you? Why?

Question 4:

The total market value of Muskoka Real Estate Company is $6 million, and the total value of its debt is $2 million. The treasurer estimates that the beta of the stock is currently 1.5 and that the expected risk premium on the market is 10%. The Treasury bill rate is 4%.

a. What is the required rate of return on Muskoka stock?

b. What is the beta of the company’s existing portfolio of assets? The debt is perceived to be virtually risk-free.

c. Estimate the weighted average cost of capital assuming a tax rate of 40%.

d. Estimate the discount rate for an expansion of the company’s present business.

e. Suppose the company wants to diversify into the manufacture of rose-coloured glasses. The beta of optical manufacturers with no debt outstanding is1.2. What is the required rate of return on Muskoka’s new venture?

Question 5:

Reliable Gearing currently is all-equity financed. It has 10,000 shares of equity outstanding, selling at $100 a share. The firm is considering a capital restructuring. The low-debt plan calls for a debt issue of $200,000 with the proceeds used to buy back stock. The high debt plan would exchange $400,000 of debt for equity. The debt will pay an interest rate of 10%. The firm pays no taxes.

a. What will be the debt-to-equity ratio after each possible restructuring?

b. If earnings before interest and tax (EBIT) will be either $90,000 or $130,000, what will earnings per share be for each financing mix for both possible values of EBIT? If both scenarios are equally likely, what is expected (i.e., average) EPS under each financing mix? Is the high-debt mix preferable?

c. Suppose that EBIT is $100,000. What is EPS under each financing mix? Why are they the same in this particular case?

Question 6:

a. A firm currently has a debt-equity ratio of ½. The debt, which is virtually riskless, pays an interest rate of 6%. The expected rate of return on the equity is 12 percent. What would happen to the expected rate of return on equity if the firm reduced its debt-equity ratio to 1/3. Assume the firm pays no taxes.

b. If an increase in the debt-equity ratio makes both debt and equity more risky, how can the cost of capital remain unchanged?

